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12 | x+(x—20)+3x =180 (x+20)+x+3(x +20) = 180 M1
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13a | y=kx or x=ky
y =5k —--memeeeee (n S=ky - (1)
y=1Tk ~emmeeeen @) 17=ky —evmeeee (2)
(2)—-(1); 17k -5k =54 %—%:54 Mi
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[6a | Sum of interior angles = (6~2)x 180 =720° Bl
I6b | Sum of angles = 7x angles at a point —[Sum of interior angle of
hexagon -+ sum of interior angle of triangle]
=7%360-[720+180] M1
=1620° Al
Or La+Lg+ Lf + £b=4x(360-120) =960°
Zd+ Lo+ Ze = (3x360)~2(120) 180 = 660° Mi
Al

Sum of angles = 960° + 660° =1620°
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19 ZDOE =180-35-35=110° M1
Area of segment = area of sector DOC area of triangle DOC
110 o
_Exn‘xﬂ) --(7)(7)sml10 M1, Ml
=24.01415413
Area of section of circle
= area of circle — 2 x area of segment Mi
=x(7) —2(24.01415413)
=106cm’ Al
OR
. | ZDOE =180~35-35=110° M1
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=‘2x(—l—§%-—6—'(;ﬂx7rx(7)2+%(7)(7)sinllO°) MI,MI
=2(29.932396 + 23.224692)
=106¢cm’ <\
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20 = 1257 = 5.59016994
Total surface area = curved SA of cone + curved surface area of
cylinder + base area
=m(2.5)(yJ31.25) + 27(2.5)(5) + m(2.5)* MI1. Ml
(any 2)
=142 cm? (3sf) Al
22a (6 5 3)(720 M1
R={9 7 41080
\J0 8 2J1 32
(193.20
=| 268.40
222.40
22b R represent the cost of each hampcn
22¢ | T=(20 25 30) /\>\\ \\
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20 2 268 0 @Q
2/
—W ( )@»
<\ AN \\\;&‘(\@
23 -\——~\>< ! 00% —/1’(“7 = . Bl
360~ .J] < AN
23b [ 30%¢ epai OS&Teptcam\sz)\Boys
° le\ resent r%ﬂgoys Mi
36
360° represent l08X360= 120 boys Al
23c No of boys in group E = Total boys—boysin (A4 + B+ C +D)
=120-30-36-18-20 M1
=16 boys Al
24a 20—n Bl
20
24b 20-n 19—17
20 19 '
_ (20— n)(19~n) or = 380—-39n+ 1 Bl
380 380
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(20-m)(19~m) 39

380 95
(20-n)(19—n) =156 Mi
380-20n—19n+n" =156
n* =39n+224 =0 (Shown) ~ Al

24d

n*=39n+224 =0

(n-32)(n-7)=0 Mi
Either n =32 or n=7 Mi
No of yellow marbles =20 -7

=B | | Al

www.KiasuExamPaper.com
430




